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Nine Hole Golf Course —- work grid

Design your Golf Course
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Complete the following chart

Hole #1 — par Li' — length = g))__QD m

Hole #2 — par H4 - length=__ 350 m

Hole #3 —par_5 —length=__ HOD m P@‘%
Hole #4 — par , % — length = l { E O m

Hole #5 — par — length = _\i_ m
Hole #6 — par 3 - length = ﬁ m
Hole #7 — par__i__ — length = __L_LKS-_D_ m
Hole #8 — par __"_‘___ — length = _EQ_ m

Hole #9 — par _H____ —length=__ A5 m DDS\G‘S

Answer the following: If an acre of land is equal to 4046.86 m?, how many acres does the entire
property cover (round your answer to the nearest acre)? | acres

SODW‘\ x 500 m = Yoo oo né - HoMtl 3 = 9%. 34 dcies



